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1. STHFA 25, -125, 625, 3125, .. FI ndl T H |4, o A= lxeZ:x3_1<=0 30

%? B={er:x2+x+1={]I%,"GfﬁZHﬁ’H
(a) (=5t e & '0=g 8, 91 A N B s s g 0
b (e1)® gt (a) Teog wg=a
ol G-I EEut (b) {_“‘Ei, _l_ﬁi}
2 2
-1 =0+l
Ml BT {-14-@1 —l—vﬁi}
{EJ ’
4 4
2, WA AT X=(1,2342 3R XTTH z
o 1+431 1-43i
Hay & 1A R =41, 1), (2, 2), 3, 9), (1, 2), (d) >,
(2, 1), (2, 3), (3, 20} &, °t Frfefiga § & #F '
T HEl B ? 5. o wiftm ww=El A st B fom Fefafea
(a) R gea o aufim &, frg 9w 78 Ferl W ferem i
2 1. ANBIUMANBIU(ANBI=AUR
(b) R wHfE it #ems B, fog waeg =@ 2. (AU(ANB))=AUB
2 I FIH H Y HIA-T/Y T BE 2
(c) R T@ged o Twms 2, feg oafie o (a) e 1
2 (b) e 2
(¢) 132

(d) Rﬂ?ﬁ;ﬁ%ﬁ“@m%’ﬁﬁ (@ Fdr A8

6. T ofifoe X v iftEa ag=w B ot A wifs
A, B, CO97=d X % Imog= & | Pl
F991 1 fa=m $ifsm

1. AcC={ANBc(CnEB),

3. AP FEwsHi % Ty=d N W 0% H9Y R 59
mﬁqﬁmﬁﬁ%ﬁixﬂy:}xz—4xy+ﬂy2=ﬂ

2, 1 Prefafes & & SRm os adt 2 7 (AUB)c(CUB)
(a) REEed iR gl 2, P g T 2. (ANB)c(CnB)ad B ay=al & forw
& =AcC
3. (AUB) c(CuUB) Tadt B gg=al & feru
(b) R T@ged 3R @Fme 7, fhg wwfim 6 —SAcC
8 I7dw el ° @ w-Ead E 2
(¢) R Tqed, aafa 3fit @Fms 8 (a) “heel 1 3 2
. (h) *heel 2 3N 8
(d) ;ﬁgw%%,ﬁﬁﬂawﬂmﬁa%aﬂw 5 S
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1. What is the n term of the sequence
23, -125, 625, -3125, ... 7
(a) - (-5
lh} l:l_lﬁﬂn 5ﬂ+1
{L‘] {_ 1)2“‘1 5!1"']
(d) i= ”n—l 5'1+1
2.  Suppoese X = {1, 2, 3, 4} and R is a relation on
X.IR=1((1, 1),(2,2),(3,3),(1,2),(2,1),(2,3),
i3, 2, then which one of the following is
correet. ?
{a) R is reflexive and symmetric, bul not
transitive
{b)> R is symmetric and transitive, but not
reflexive
(e} R is reflexive and transitive, but not
symmetric
(d) R is neither reflexive nor transitive, but
gymmetric
3. A relation R is defined on the set N of natural
numbers as xRy = x° - dxy + 35" = 0, Then
which one of the following is correct ?
{al R is reflexive and symmetric, but not
transitive
(b} R is reflexive and transitive, but not
symmaetric
fe) R iareflexive, symmetric and transitive
id} R is reflexive, but neither symmetric nor
transitive
EDF-5-DGY

4,

5,

(3-A)

ITA=ixe 7 :x"—1=0}and

B={xe Z:x*+x+1=0], where Z is set of
complex numbers, then what is A N B equal
to ?

{a) Null sel

[“1+481 -1i~81]
R R
[-1+48i —1-48i]
(c) L }
. LS T-dFi
Kd} { 2 s"z }

Consider the following statements for the two
non-empty sets A and B :

1. (ANBIUMANBIU(ANBI=AUB

9. (AU(ANB))=AUB

Which of the above statements is/are correct ?
{a) 1 only

(b) 2only

{c) PBothland?2

{(d) Neither 1 nor 2

Let X be a non-empty set and let é'!u,- B C
be subsets of X. Consider the following
statements :

1. AcC=ANB ciCnB),
AUB ciCuB)

2. (ANBIc(CNB)forallsets B=AcC
3. (AUBIc(CUB)forallsetsB=AcC
Which of the above statém&_nta are correct 7
(a) 1andZ2only

(h) 2 and 3 only

(e} 1and3only

fd) 1, 2and 3



9. aﬁ ﬂ%,ama@%

(a) YRR TR
(b) HAHTHIT IR

(el Wﬂﬁﬁ AR

(d) =FTam wegg
x =3 1

10. IfE |v 1 i

0 2 —i

AT S 2

a) —-3,4

ih) 3,4

e} 3,—4

dy -3,-4

EDF-S-DGY

7. @K B=|2 4 0|2, d B® ueEed I8
1 1 0
ferees mom B2 0
[0 0 0
{a) 0 o o
=2 =1 8
[ 6 —8 12.
3] 0 0 =1
0 0 8
0 0 2
() 0 0 1
0 0 0
(d) THFI Afas 751 8 13.
8. FHEH (32— x-6| =x+2 FHAFE ?
(2) —-2,1,4
(b) 0,2 4
(¢} 0,1,4
d) ~224

14.

=6+ 111 %,Eﬁxﬁ]’(y%
15.

(4-A)

Tt of 4 927 + 22+ 1 =0 30
T 81 o 3 e o

(a) =1,
b 1,
€@ ~1,°
d)  w w

I €20, n +2) = C(20, n — 2) &, A1 n T+
T 2 2

fa) 8

(by 10
(e} 12
(dy 16

e arad W 10 famg # 1 g fagatt § @ i ot
o fomg e T Y 4 9d § | 39 et e
1 $a Hem fhadt & o @ faged = Sem
R A1 HeAT 8 7

(@) 90

(by 45

(e} 40

d) 30

aﬁ(b,ﬂ"ﬂﬁﬂpxz+qx+r:0{ﬁﬁp,q,r
wft wens §) ¥ fm amafes m@ §
ffafen 0 5 R ws @@ 2 ¢

(a) a=0 b=0

ib) a<0, b<0

icd) a=0 h<O

idy a<0, b=0

TfE A=, w)) B, @ A F U o= (Wa
#e) @

(a) {9, 6), (1, (2, )

(b) {0, (&, (A, pi), Gt W)

[c) o, {al, (A, b 1A, 1A, 1ih

@ AL (R, (R, il



3 2 0
s Ir B—{Z 4 DW, then what is adjoint of B
|11 of
equal to ?
0 0 0
(a) 0 o o0
=g =1 By
0 0 -2
by |0 0 —=1]
0 0 8 J
0o 0 2
(e} 0o o0 1
o 0o 0
{d) It does not exist
8, What are the roots of the -eqguation
|x%—x 6| =x+2? -
fa) -2,1,4
(hy 0,2, 4
fep 0,1, 4
(dr -2,2,4
0 1
9. If A= i al then the matrix A is a/an
{a) Singular matrix
. (b} Invelutory matrix
{c) Nilpolent matrix
(d) Idempotent matrix
x =3 1
10, If |y 1 i |=6+11, then what are the
0 21 - iJ
values of x and ¥ respectively ¥
(a) -3,4
(by 3,4
fe) 3,—-4
(d} —8—4
EDF-5-DGV

11.

12,

13.

14.

(5-A)

The eommon Toots of the equations
z' +22° + 22+ 1=0and zmw+;2mﬂ+1={]
are

a) -Luw

by 1, >

e} -1, w*

() w0

If C(20, n + 2) = C(20, n — ), then what is n

equal to ?
(a) 8
(by 10
e} 12
tdr 16

There are 10 points in a plane, No three of
these points are in a straight line. What is the
total number of straight lines which can be
formed by joining the points ?

fa) 90
by 45
(e} 40
(dy 30

The equation pxz + gx 4+ r = 0 (where p, g, r, all
are positive) has distinet real roots a and b,
Which one of the following is correct 7

(a) a>0 b>0

by a<0, be0

ie) a=0 b=0

id) a<0, b=0

If A = {A, [4, uil, then the power set of A is
(a) o 101 14D, (A it

(b) Ay 1A}, Ha, b 140, i}

Ced oy [A] AR, s (g 8, i)

(d) (A, (2, i, 12 {2, il



& T AT 02 (F) vyl @ o Rl we

fereft foremem |, wfi om fi9 st o @l (AER
) — yrae, & oin e o O § Raae
we @erd ) 60 9T WO W §, 50 e 2w
wed 8, 48 W Wen ¥, 12 waiw ol w3
wed #, 15 %W sk dew fm A @ €
20 ¢aet ¢ o s A1 wea # |

16.

17.

18.

EDF-S-DGV

foremera # ol @ =EEn d@Em A g
#2 :
{(a)
(b)
(¢) 95

123
111

(d) 63

faemem # ot it wfieon gen feadt B
Hepell & 7

(@) 111
(b) 123
(e) 125
d) 135

e A ®ife 3 F uH dowE Ay R, @
THHIFHH qfaa™ (A

22.
(a) Y[PT HEYE AW R
(b) A% =R R
() 9A% e B
(d) 1 sifEae 4 R
(6-A)

19,

20.

21,

A, FifE 3 & T THER F TH T agE
THE GRE H A 4 ¥ | ogEh ufEd &
arfors 1 W w2

(a) 64
{b} 36
(c) 32
(dl 4

6 S o 4 il § ®, vE wEEE
5 =afral ) el e wmean 2 | 3R feet wsn
# form 1 wewar @ @ifes HadFn v i
&1 el STavg w2

(a) 209

(b) 210

(¢) 246

(d) 242

[(2x - 3y)% (2x + 3y))° & formm # 4@
TEAT ) B

(a) 4

b 5

© 8

(d) 186

1+ ax)" o feream o, weet 17 92 A 1, 19x
3R 64x* & | n forerh aren # 2

(a} 6

by 8

(¢} 10

(d) 12



Consider the following for the next 02 (two)
items that follow :

In a school, all the students play at least one of

three indoor games — chess, carrom and table

tennis. B0 play chess, 0 play table tennis, 48 play

carrom, 12 play chess and carrom, 15 play carrom

and table tennis, 20 play table tennis and chess.

[l

16. What can be the minimum number of students
in the school 7
fa) 123
(by 111
fe}y 95
d) 63
17. What can be the maximum number of
students in the school ?
)y 111
by 123
(e) 1256
dy 135
18. If A is an identity matrix of order 3, then its
inverse (A™)
(a) is equal to null matrix
(b} iseqgual to A
{c)  isequal to 3A
id) does not exist
EDF-S-DGV

19.

21.

22,

(T—A)

A iz a square matrix of order 3 such that its
determinant is 4. What ig the determinant of

its transpose ?

(a) 64
(b) 36
(c) 32
dy 4

From 6 programmers and 4 typists, an office

wanta to recruit 5 people. What is the number

of ways this can be done so as to recruit at
least one typist 7

(a) 209
(by 210
(e} 246
(d) 242

What is the number of terms in the expansion
of [(2x — 3y)% (2x + 3y)°1° ?

(al 4
(b} 5
(e} 8
(d} 16

In the expansion of (1 + ax)”, the first three
terms are respectively 1, 12x and 64x>. What

isnequal to ?

(a) 6

by 9
{c) 10
id) 12



23.

24,

25.

T 1, 5 3R 25 €1 95 (FEFTE w9 H BT
STEvESH T ) B A6 &

(a) ad UH AP

UE U aAftes W ufifie dem d Aps %
(¢) F9ifg TEm 5 APs &

il wear § GPs %

(hl

(d)

et AP (p+ q)d 3 (p— q)F T T TTEA

e R
(a) (2p/d U5 %
(b)  (2q8 95 %
(¢) pd 95 HTHH

(@) of TFHGHF

qfg A, HIR n > 1 & T T A=ZE B, q

FafafEa § 4 $19-01 U5 T8 2 7
{a)  det{i—A)=detA
(b} det{-A)l=(—1"detA

te) det(—A)=—det A

id) deti—A)=ndetd

26. 25 cosec® x + 36 sec? x T ZAAH HH HT
g7
(a) 1
) 11
ey 120
@ 121
EDF-S-DGV

Tt Hr arer 02 (F1) mAl & fore Feforfa ot
farame &ifag -

27.

28.

H i A W B, (3 x 3) g B 9@
detﬁ=43ﬂidetﬂ=3% I

det (2AB) feras smat 2 ¢

fa) 986
(b} 72
. (e} 48
id) 36

det (3AR™) Foposhs arar 2 9

(a) 12
b) 18
fcy 36
(d) 48 ,
T ST e 02 (F1) FvAT & forw At o
fareme &ifare -
L Th UMWY HEW W OTER 4 M E
o L1+2L
I

29.

30.

z =Rl 9T #9712 ?

(al 4
(hy 2
ey 1
1
{EIJ E
2 1 TG IO 41 8 7
tal 0 1
I o
(h) 1
R
{CJ E
idy =



28, The numbers 1, 5 and 25 can be three terms
{not necessarily consecutive) of
{a} - only one AP
(b)Y  more than one but finite numbers of APs
(¢}  infinite number of APs
(d} finite number of GPs
24, The sum of (p + q)th and (p - q}‘"h terms of an
AP is equal to
(a) (EP}th term
®) (29" term
{¢) Twice the p™* term
(d} Twice the qth term
25. If A is a square matrix of order n > 1, then
which one of the following is correct ?
(a) det(-A)=detA
(b} det{—A)={(-1"det A
(e} det{—-A)=—detA
(d) deti-Al=ndel A
26, What is the least value of
95 cosec’ x + 36 sec” x 7
faj 1
) 11
{c) 120
(dy 121
EDF-3-DGV

Consider the following for the next 02 (two)
items

27,

28,

Let A and B be (3 x 3) matrices with det A =4
and det B = 3.

What is det (2AB) equal to?

{a} 96
by 72
{c) 48
(d) 36

What is det (3AB™1) equal to ?

fa) 12
th) 18
fcy 36
(dy 48

Consider the following for the next 02 (ftwo)

ilems !

29,

30.

(9-A)

A complex number is given by z = 1+—213 ’
1-(1-1)

What is the modulus of z 7

(a) 4

(h) 2

@ 1

@ 3

What is the principal argument of & 7

(a) 0
b3
(b} E
14
I:C} E
(dy =



sin 34° cos 236° — sin 56° sin 124°
=] HIAT 3d0. BHIHA T & ?
coa 28° cos B8* 4 cos 178 sin 208° ki ¢

'% 2 (a) -1
(a) -2 ' (b 0
Rl © 1
1 ) 2
32. tan 54° FI Few wer sl Rear s wwa | o o TRt 02 (7)) St @ ferg R w
29 Freme ifor ;
W SREEE 7 foom o R fcos (0~ ) = a, cos (0-P)=b
g #in 9% — cos 9° -% I
(hy Sin9°—cos 9
50 37+ con. OF 36. cns(mwﬁ}mmg?
() cos 9% 4 gin 9°
c0s 9 - sin 97 (@) ab+ {1-a2 {1-b?
() sin 36° o
cos 36° () ab- y1-a% \1- b2

HT ST &7 03 (i) vt & forg Aerform w © aJi-b? -bi1—a?
fererr oo -
A p=Xcos 0-Ysin®,q=Xsin0+Ycos 0
I p? + dpg + q° = AX® + BY? B, el

(d ay1-b% +by1-a2

37. sin® (0 —P) + 2ab cos (o — ) forees et & ¢

m
< B = =
0565 2 2
33. EIH'HHW‘E? (a) a®+b?
(a) 25 (b) a’-b’
by = () b*-a’
3 @ -(a?+bd
(€) f
" 38. 2 sin o+ cos a=p B, W cos® (20) FFEH
(dy =
6 R 7
34, AW EHAFIR? @ g
il e
© 2 (@) pi2-p?
(d) 1 ) pP+1

EDF-S-DGV (10-A)



31.

32,

What is the value of
sin 34° cos 236° — sin 567 sin 124"
cos 28° cos 887 + cos 1758 sin 208°

fa) -2
(thy -1
icy 2
dy 1

tan 54° can be expressed as

ain 9% + cos 9°

(o) gin 9° — pos 9°
gin 9% — ooz 97
b o M 1
(b) s1n 9° 4 cog 9°
() cos 9° +gin 9°
cos 9° — ain 9°

sin 36°

1) i

) cos 367

Consider the following for the next 03 (three)
itemns :

Hp=Xcos0D—YsinO,qg=XsnB+7Ycosd
and p° +4pg + q° = AX® + BY?, ﬂi(}ii_%.

33. What is the value of 8 7
I
ial —
o
(b =
3
T
} =iy
Le i
Y T
] 2L
td) g
34. What i1z the value of A 7
{a) 4
ib) 3
ey 2
dr 1
EDF-5-DGY

35.

Whal is the value of B 7

fa) -1
(b} O
ey 1
idy 2

Consider the following for the next 02 (two)
items ;

36.

317.

38,

(11-A)

Tt iz given that coz (8 — o) = a, cog (B — ) = b.

What is cos (« — [}) equal to 7
(@) ab+ J1-aZ J1i-b?
B ab-l-a2 J1-b2
(c) am —byl1-a®
{d) ag‘ﬁ +b\1—a"£

What is sin® (@ — Bl + 2ab cos (o = B equal
to ?

fal .-12 + h2
(b) a®-b°
ey b°-—a’
(@ —(a®+b%

If sin o + cos ¢ = p, then what 1s cos” {Zer)
equal to 7

{a) p2

b p°-1

@ pi2-pH
{(d) pz +1



39.

A, "ﬂf& !c:in_1 ﬂ——- - cos !

14 C—15 b

sin” g-rse o %IH'FIEF‘:IT%?
s

a bl

{a) oy

E o

(b} 5

fc} m

(dy 0

2%
1-x

2
1-g® ol

1+p l+qg

B, 7 x fopees = g 2

(a)

(b)

l+pg

{c}l &
1+pq
P+4

id)
1-pg

41. afZtan o= :21- G-ﬁftantp:%%, i (0 + @) Bl
o T 7
(a} O
b 2
(b 6
T
{C:] 4—
s
(d) 5
EDF-5-DGY

42,

43.

44,

45.

(12-A)

'\I ™
afE cos A = ; g, @I 51&[%j ﬁiﬂ[%J hl AMH

R 7
(a} g
() f—ﬁ
{c) %
(d) %

tan 75° + cot 75° I m‘—rw%_?

(a) 2
th) 4
(e) 243
d) 443

cos 46 cos 477 cos 48° cos 49° cos 507 ...

eos 135"
I OH F0 & 2
(a) -1
by O
{c) 1
(d) 1% =ifter

aﬁsm2ﬁ=msaﬂ,aﬁn<e¢:§%,ﬁhsina
foperer a2 7

1."'5+1
4

o
4

{a)

(b}

‘Lj

a+1
16

J5 -1

16

(c)

(d)




1

’ =
39. What is the value of ==:in_Ii T S L
(51 4 2
e
a L
(a) i
b b
{b) =
) m
{dy 0
2
40. If sin™t s T cu$_11—qz = tan~t 2X2 :
1+p l+g 1-x
then what is x equal to 7
P . B
1+pq
b 22
1+pg
Pq
(c) —=
1+pg.
@ Pre
1-pq
41. If tan 6 = é— and tan ¢ = %, then what iz the
value of (8 + @) ?
fa) 0
T
bl =
8
T
el —
4
T
d i
{d) B
EDF-5-DGY

42,

43.

44,

45,

[13-A)

¥

If eos A= —, then what is the value of

4
. [A“ . [Eﬂ“
sin —|sm -v----J ?
2/ 2

(a) g

(b) %
{c) 2—54
(d) Bl

What is the value of tan 75° + cot 75°7

{a} 2

ihy 4

© 243

(d) 443

What i the wvalue of

coa 46° cos 47° cos 48° cos 4897 cos H0°
’ cos 1352 7

a) -1
{by 0
ie) 1

(d) Greaterthanl

If sin20=cos38, where 0<8< %, then

whatis =in 8 equalio?

=

(a) VB +1
4

5 -1

b . 2
(h) ’}

: JE-!—J_
Ced 16

(d) ¥5 -1
16



46, Ifg TN %% + px + q = 0% T tan 19° 3K
tan 26° &, d FEfeafEgs ¥ 4 S99 = T
87
fa) g-p=1
(b} p-g=1
e} p+g=2
(d} p+qg=3
47. n "B wf uw AP frEs wd w1 wea
nin + 1) 8, &1 =197 95 #1 & 2
fal 6
by 8
{c} 12
(dy 20
48. (1 +tan « tan ) + (tan o — tan B)° —
sccE(IamcEB
fepmeh WAL @ 7
(a} 0
(b} 1
fey 2
(dr 4
49, Qﬁp:cusccﬂ—cutﬂ ﬁ?q:{cnsecﬂ+cut Ei]'_l
2, @ Frafafas 8 9 sh.a v ud 2 7
(a) pg=1
(b} p=4q
el p+gq=1
(di p+qg=0
50. Ifc v YT ABCH F0 1:2: 3% 9w 8
&, at e e b ST A E 2
(a}) 1:2:3
(by 3:2:1
(€ 1:43:2
dy 1:43:+2
EDF-S-DGV

51.

(14-A)

frferfaa et o famm Hifsg .

1. % @ Fme odisw, 9e wiH §,
xcosO+ysinO=p 8 WRET (¢ p
O S A B C 1
lwcos O+ PsinB+p| B |

2. fag m,mﬁ%@—|—_1m@°férrq
Eﬁﬁﬁmfﬁ%%?%l

I HEEl B H HA-AVE TE AR 2

(a) Had 1

(b) e 2

(¢) 132 dF

(d A1, AH2

52. UH T x° + y” = a” 1 U a1 H1 =4H THH

%@WW%IWW,Q@TX+}?:&W
feora 2 | 99 o wieo = 2 2

(al xg+y3—ax—ay+a2={}

{b} x2+y2—ax—a}r=ﬂ

{© x*+y*+ax+ay=0

{d} x2+}r2+ax+ay—2a2:{]



46. If the roots of the equation X% 4 px+q=0are
tan 19° and tan 26°, then which one of the
following is correct ?

{fa} gq-p=1
(b} p-q=1
{¢) p+q=2
d}f p+qg=3

47.  What is the fourth term of an AP of n terms
whose sum is nin + 1) ?
{a} 6
{b) 8
e} 12
dy 20

48, What is
{1 + tan o tan [5}2 + (tan & — tan H}E -

sec” o sec’ p
equal to ?
fa) 0O
b1
e} 2
(d) 4

49. If p = cosec O —cot 8 and q = (cosec 0 + cot ),
then which one of the following is correct 7
fa) pg=1
by p=q
e} p+q=1
id) p+g=0

60. If the angles of a triangle ABC are in the ratio
1:2:3, then the corresponding sides are in
the ratio
fady 1:2:8
by 8:2:1
(€) 1:43:2
(@ 1:43:42

EDF-5-DGV

51.

62,

(15-A)

Consider the following statements ;

1. For an equation of a line,
xcos 0 + ys8in 0 = p, in normal form, the
length of the perpendicular from the
point (o, () to the line is
|ocos O+ sinO+p|.

2. The length of the perpendicular from

the point (e, 1) to the line 2 +i

a

=1 is

‘a-.x-.-b[’;-a_tl

‘ .,Il'aEE + b2

Which of the above statements is/are correct 7

(a) 1 only

(b} 2 only

(e} Both1and2
(d) Neither 1 nor 2

A circle is drawn on the chord of a circle
x% + y* = a® as diameter. The chord lics on the
line x + y = a. What is the equation of the
cirele 7

(a) x2+y2-ax-ny+a2=ﬂ
(b) x4y’ —ax-ay=0

K

(¢ x*+y*+ax+ay=0

(d) x2+;5r""+ax+ay-2&2mﬂ



53. UF dga W fReft fag < it gt W

bd.

55.

TTHS 3T & I T8 I 8
(a) o 2351 I TS H
& 1% =t Trars
(c) ATfirsia H sreaTd &

(d) e R anieyg el B T
TS

th)

gt 2x” —3y? — 6 =0 Twfa = 8
(a) TH I
{b) T TEeT

{e) Wfﬁﬁgﬂ
(dy T AlgEeE

T.‘?fq'{amyjziiaxaﬁt x2=4ﬂ}’mg
(a) f@]y:xﬂﬁﬁfﬁﬁﬁi‘rﬁq{
(b) Fad qA-fag ™

(e} ?ﬂ?ﬁ@aﬁmﬁ?ﬁﬁmy+x=nm
b 2

(d) “hee (4a, 40) T

56. famg (1, 3) @R (5, 1), UH A9 % T gH{@ I
Floag @ y=ox+cmEHE | e
uH 8 2
{a) 2
by -2
(o) 4
(d) -4

EDF-S-DGV

a7.

8.

59.

60.

(16— A}

ﬂﬁi’@'lﬁ 3y+4x=1,y=x+53ﬂ't5y+bx=3
Tt &, A b W AE =R 7

@ 1
® 3
{cy 6

1
o L
{ 2

IH WiE > HE R Al oy = x W
8 3R (3, 2) ® BT TEA B ?

WA@Y x+y-4=0,3x+y—4=03N

X + 3y — 4 = 0 U Frget st & ug P

wwfgag 2
Toafi 2

(a)
(b
(c) HHETE &

(d) foremag 2

aﬂxﬂ+yz+4x—Ty+12=D§My-HHWm
T U A We TR e 2 0

{a} 1

(by 3
fe) 4
dy 7



53. The sum of the foeal distances of a point on an
ellipse is constant and equal to the
(a) length of minor axis
by length of major axis
(e} length of latus rectum
{d) sum of the lengths of semi-major and

semi-minor axes

54, The equation ax? :“!;,a2 — 6 = 0 represents
(a) acircle
(b}  aparabola
() anellipse
(d)  a hyperbola

55. The two parabolas y2 = dax and x* = day
intersect
(a)  attwo poinis on the line y = x
(b}  only at the origin
{¢) at three points one of which lies on

y+x=0
(d)  only at (4a, 4a}

56. The points (1, 3} and (5, 1) are two opposite
vertices of a rectangle. The other two vertices
lie on the line y = 2x + ¢, What is the value of
&7
{a) 2
(b) -2
fe) 4
(d)y -4

EDF-5-DGY

a7

58.

59.

60.

(17 -A)

If the lines 3y + dx = 1, ¥y = x + 5 and
5y + bx = 3 are concurrent, then what is the
value of b ?

(a) 1
(h) 3
e} 6

1
(d) 3

What is the equation of the straight line which
is perpendicular to y = x and passes through
(3,2)?

(a) x-y=5
(b} x+y=5
€] =x+y=1
d) x-y=1

The straight lines x + y-4=0,3x+y-4=10
and x + 3y -4 =0 form a triangle, which is

(a) isosceles
(b)  right-angled
{e)  equilateral

(d)

scalene

The circle x° + },2 + dx — Ty + 12 = 0, cuts an
intercept on y-axis equal to

fa) 1
(b) 3
e} 4
dy 7



61.

62.

63.

A2, -3, 3), B(5, -3, — 4) 3T C(2, -3, —2) 3wl
arel T AT F Fow wE g R 2

() (-3,3,-1)

()  (3,-3,-1)

() (3,1,-8

(d)  (~8,-1,-8)

Yﬁéx2+y2+22—ﬁx+8y—'}ﬂz+1=ﬂ?ﬁf
forsm @ &2

S fa) B
by 2
ey T
id) 3

Wﬁﬁix+y+22:9 T dx -5y —4z=17%
feaet 3 forg (8, 2, 1) A ToE aTet HHAE
&1 wHtR F 8 2

fa)  10x-2y+22=28

by 10x+ 2y + 2z = 28
(el 10x + 2y - 2z = 28
{d) 10x-2y-2z=24

64, UL TATE] 4x — 2y + 4z + 9 = 0 N

(a} i—
(b %
te) :2}-
@ 7
EDF-S-DGV

8x—dy+82+21=0%F = F gt Fa1 B 9

65.

67.

68.

(18 -A)

2-318 = Taeh s #41 8 ¢

ay =1,1,1=

by =1,0,0>

e} =<0,1,0>

dy <00, 1>

aft a =1 -2 esk M B =21+ § -3k
(B - a).@a + b)FFEs T R0
(al 106

(b)  —106

(e} 53

(d) -53

afy fagedl A st B & feufsy wRw
3?m2}+ﬂﬁ?_2?+4ﬁ—3ﬂ%,ﬂ"‘[ AT]%
<! wraTs w41 E 7

(a) 14

g
L
|

o
5]

=
£
]
]

Ifz vk gumior Bys ABCH, i AC =p B, T
AR . AC + BC . BA + CA . CB foremb
FUEL B 7

(a) p
(b}

(o) L

dy  p



61. The centroid of the triangle with vertices
A2, -3, 3), B(5, -4, — 4) and C(2, -3, -2} is the
point
(e} (3,1,-3)

(dy {(-3,-1,-3)

62, What iz the radius of the sphere
x2+}'2+52—6x+8§?—1ﬂz+1=ﬂ?
(a) &

(b) 2
(e} 7
(d) 3

63. The eguation of the plane passing through
the intersection of the planes 2x + v + 2z = 9,
dx — By — 4z = 1 and the point (3, 2, 1) is
(a) 10x — 2y + 2z = 28
(hy 10x + 2y + 2z =28

-{e) 10x+2y—2z=128
(d) 10x—-2y—32z=24

64, The distance between the parallel planes
dx -2y +4z2+ 9 =0and Bx -4y + Bz + 21 =10
i

1

) Bl
(a i
1

(bl =
P

3

|: . v,
c) 2
i

(d) -~
4

EDF-3-DGY

67.

(19-A)

What are the direction cosines of z-axis ?

(a) <=1,1,1>

(h) <1,0,0=>

(e} =<0,1L0>

d) <0,0,1>

o wh sl sekend B o9y & 5 gk
—

= 3
then whatis(b — a ).{3a + b legualto?

(a} 106
(b) —106
(c) 53
(dy -53

If the position vectors of points A and B are
) A A N A 4]
31 -2+ kand2i +4j -3k respectively,

then what is the length of A_]g'- #

(a) /14
(b) 28
(¢} a3
(d) /53

If in a right-angled triangle ABC, hypotenuse
AC = p, then what is

— . = — = - =
AB . AC + BC . BA + CA . CB equalto?

(a) ]:a2
(b} 2 p2
3
¢ P
(e 5
dy p



69.

70.

. = A A P A A A
s 2 =21-6j-3k 3 b =4i+3j-k

% of1" % HIOT HT HA (sine) B
(al ;_ﬁ

(b) 42*5

(c) %

(@ 2—16

A W T ww wn g fyas fom aRw
31 + 437 - k ot wRw 21 +« 15 + 10k

e 8 ?

fa) 1
b) 2
fe) 3
(d 4

71. x % AEEH sec’ (tan ! x) =hl =9 a1 & 7
(a) 2x
(b x*+1
ey =x+1
d) x*
EDF-5-DGY

72.

73.

74.

75.

(20-A)

7% fix) = log (1 + x) B, dl
df4) + 5R1) - logy, 2 Forueh s & 7

fa)y 0
(b} 1
o (e} 2
(dy 4

fix) = In (y/x% +1 ~ x) g 9heaiee o %o f,

2
(a) U WY Feld
(b) U T wer

(¢) @ R vy v gl

(d) = o "9 2T & Ty wem

fix) = log, 10 GRT GRWIFYA & £ 6] SHA &
(a) .x:-I'L'I

(b)  x =107 BEHL, x>0

(e} x=10

(d) x=17% BEH, x>0

3
1imw foreeh TE 2 7

x—0) x
(al 0

thy 12
(¢} 24
(d) 36



69. The sine of the angle between vectors
_—) A A A — A A A
8 =2i —Bj-3kand b =41 +3j-k
is
1
{a) =
J26
5
by —
J26
&
EL} E
1
(d}) —
26
70, What is the value of % for which the vectors
M~ A 48 A ﬂ: A
3i +4j — k and =27 + &) + 10k are
perpendicular ?
{al 1
by 2
el 3
dr 4
71. What is the derivative of sec” (tan ' x) with
respect to x ?
(a) 2x
() x°+1
fcd x+1 :
(@ x*
EDF-S-DGY

T2,

73,

74.

75,

(21-A)

If flx)=1logq(1+x), then what is
4f4) + 801) — log;y 2 equal to ?

ta) 0
thy 1
e} 2
dy 4

A funetion f defined by fix) = In (m - %)
is

(a] an even function

(b}  an odd function

(c)  Both even and odd function

id) Neither even nor odd function

The domain of the function f defined by
f(x} =log, 10 is

(a) x=>10
(h) x>0 excluding x = 10.
(e} x=10

(d) x> 0excluding x =1

3

1—ecos” 4x |
is equal to

:!iTu 2
(a) 0

by 12

fed 24

idy 36



6. r =0 éai%m, fr=m r%l{ﬂiﬁ?{%waﬂ
BA%A W SEUE fir) B | A9 R1) + 12) e
SIS 8 7
fa) 1
by 2
(c] 3
(d)y 4

77. A A = 31 R, T 1) fly) fz) Tobwes e
27
fa) flx+v+z
h) filxey+z+1)
ey fix+y+z+2)

d} fix+y+z+3)

78. W &% + 9x| + 20 = 0 % fo Al
et S wew B
(a) R
(by TS
(¢) @

(d) =

79. A fx) = sin (cos x) B, A £(x) Forteh TR 2 2

{a) cos{cos =)

(b}  sin (- sin x)

(e} (sinx) cos (cos x)
(d} (- sin x) cos (ens x)

80. BT flx)= [2-x)(x-3) FEHA B
fa) (0, o)

(b) [0, =)
{ed [2,3]
id) (2,3

EDF-S-DGY

81.

82,

83.

(22-A)

HaFe Tt %:ms{y-——x}+l EFF?H%

(a) e'[sec(y—x)—tan(y-x)]=¢

(b)  e"[sec(y—x)+tan(y-x)] =¢
(¢} e'secly—x) tan(y—x)=c¢
(d) e*=csec(y—x) tan(y—x)

il
j |sinx —cos x| dx ToFmEeh ST & 9
0

ial O

() 2(J2 -1)
@ 242

d 2(+2 +1)

qﬁ y = a cos 2x + b sin 2x %,?ﬁ

(a) §;§~+y=[}
(b) —j} +2y=0
(c) :%T—:ly:{]
(d) ﬁ+43,f=ﬂ

u1g 1 Uk 1 TS W HI TH A deH (90
U AHARHN AU 7R 2dgaern ol aren)
H g ® | At o9 TS aAwe B g
W@ A, 9 o sed il FEn 1 AUTAER
TRl % =8 & w39Ta = B 0

fa}  m:(m+2)

(b} (m+2):m

e} 1:1

(d) I A HIE AR



76. Forr =0, fir) iz the ratio of perimeter to area | 81.
of a circle of radius r. Then f{1} + f(2) is equal
Lo
ta) 1
(bl 2
ey 3
dy 4
77. If fix)= 3", then fix) fiy) flz) is equal lo
i) flx+y+z) 82,
bl flx+y+z+1)
ey fHx+vy+z+2)
dy fix+y+z+3)
78. The number of real roots for the eguation
24+ 0|x] +20=0is
fa)] Zero B3,
thl  One
(c) Two
{(dl Three
79. If fix) = sin (cos x), then [ix) is equal to
(a)  eos (cos x)
(b} sin(—sinx)
{¢)  {sin x) cos (cos x)
{d) (—sin x) cos (cos x) Rk
80. The domain of the function
flx)= J2-—x)(x—3) is
{a) {0, =)
(b) [0, =)
el [2, Blh
idl (2,3)
EDF-5-DGY (23-A)

The solution of the differential equation
:—i- =cosl{y—xt+1i1s

(a) e"[sec{y—x)—tan(y-x)]=c
(h) e*[sec{y—x)+tan({y-x)] =¢
(t) ¢ seciy—x) tan(y—x)=c¢

(d)  e*=¢seely—x) tan {y —x)

2
J |sin x — cos x| dx isequal to
]

fay 0
(b) 2iv2 -1}
ey 242

(d) 2(42 +1)

If v = acos 2x + b sin 2x, then

(al %+y=0
(b 3£§+23=ﬂ
(e) %—4:.::{}
{d) %+4}:[}

A given guantity of metal is to be cast into a
half cylinder (i.e. with a rectangular base and
semicireular ends). If the total surface area is
to be minimum, then the ratio of the height of
the half cylinder to the diameter of the
semicireular ends is

{a) m:lm+2)

by (m+2):m

e} 1:1

id} None of the above



e | A

85. poinE cos xdx e samEn % 7
]
a) e+1
by e-1
(¢} e+2
id) @
g6. I f‘m="‘2, x+-2 8 @ flix)
X+ 32
T B 7
{a) W vd
x-2
+2
..
W =
(e} x+2
x—2
(dy 201+ x)
1-x
R7. I In(x*)dx ToFess smae & 9
ta) Z2xinixi-2x+c
bl 2 I e
X
(e} 2xinlx)+c
{dJ 2 h-l-{-)i — Iy
X
EDF-S-DGYV

828,

88,

ferereh

(24-A)

forg (4, 20 y* = 8x A soaem gl FFes Fer
87

(a) 2
(b) 242
) 2

(d) 342

y-3E H qE-fag W e s A ge-fem
I AT FH HHEFA B

24—_--;2--2:'{;;ﬁ =0

[a}
5 * dx

d}rn

2 =
X+ vy +2xy— =
h ydx

(b}

X~ ¥+ 2xy dy =0

i
% dx

xi—yz—zxyd—}r =0

d
Lek) T

e FHIER j:j +2[%}2+9y:x%
Hed # Frefofas w faar Hifaw

1. fashe affenter i um (fefi) 12

2, EE WU T HifE (2AET) 2 R |
3T FeET H H F-EVH FE B E 7

Ha 1

A 2

13 2 gHl

Ad 1, AE2

(a)

()

feh

(d)



T
j e"" " cos x dx is equal to
0

85.
a) e+1
ih) we-1
cd e+2
d) e
86, If f)=2"2 x # -2, then what is (x)
equal to ¥
4(x + 2}
(a) g
x4 2
(B) d(x —2)
x+2
(e} -
() 21+ x)
1-x
87. Whatis j In(x?) dx equal to 7
{al Zxinix)-2x+c
bl 2 e
X
ic) 2xinx)+e
@ 2 oxic
x
EDF-5-DGV

89.

(25-A)

The minimum distance from the point (4, 2} to

}*2 = Bx is equal to

(&) /2
(b) 242
ey 2

(d)y 342

The differential equation of the system of
circles touching the y-axis at the origin is

Lo dy

(a) = +y —2xy— =0
dx

{h) 32+}f2+ Ex}'d—}r =0
dx

(¢} xz—}'2+ Exyd—y =0
dx

(d} xz—yE—Zij oy =0
dx

Consider the following in respect of the
differential equation :

oyl
+2Ld—‘?J + Oy =x
dx

dzy

dx?

1.  The degree of the differential equation

is 1.

2 The order of the differential equation
is 2.

Which of the above statements is/are correct 7

{a) 1only

(b} 2 only

ic) Bothland?2

(d) Neither 1 nor?2



91, STaee THIEHT g-—"+5:u 1 ST B 41
X ¥
22
(a) x°+ _vz =g
(b) x*-y9=c
@) x°4 }r2 = oxy
dl x+yv=¢
sin =0
92, k I GE TF @@ E W f)=d
k x=0
x = 09T Hdg T8 ?
fa) 2
by 1
el =1
id)y 0
93. a’x +b2}f$f§1§'|ﬁﬂ M, Trlﬁ__'?xy:czé, R 7
(a) abe
{(b) Z2abec
(el 3Jabe
(dy dabe
94, I ¢ A gy foEes wET 8 2
X
)
& Inia) Be
X
b ¢
(h) Inta) + g
%
e
W
d ae”
ot
EDF-S-DGY

95, %yzcsiﬂxﬁ(x—ﬂﬁ%ﬁﬂﬁiﬁﬁw

96.

917.

(S[9) 1 &TFe F91 & ?

fa} ¢

(b} 2¢

{c) 3c

id) 4e

Ilﬁ sin 8 + cos 0 = /2 cos 0 %, Al
{cos 0 — sin 8) TohHeh saRR 2 7
tal — «2cosd

(h) - +2sinp

(¢) f2sin@

(d) 2sin0

U g1 51 = 44 om B, I U Sy i
e 22 em B | Sffer 1 w19 w79 Y T w=n
27

{a) % cm
(b) % cm
(e l;-il cm
(d) % ¢m

98. ﬂﬁsi:1ﬁ=—%3ﬂ'{tanﬁ:ﬂ,—1§ 8, ° o fsm

(26— A)

Faylsr ¥ war 8 7
fa) N¥H
) fodfta
(e) e

(d) g9



91. What iz the general solution of the differential
equation dy po=0 7
dx ¥
{a) % + }'2 =
b}  x*— }rz =
(€) ="+ }'2 =Xy
dy m+y=c
92, The value of k which makes
sinx x=0 1
fix)= continuous at x = 0, is
k ==10
(a) 2
by 1
(e} -1
(dy O
93. What is the minimum value of a®x + bﬁj'
where xy = 27
{a) abe
{h)  2Z2abc
{¢) 3abe
{d) dahc
94. Whatis j gtintal gy equal to ?
ﬂ}(.
; +c
ot frla)
X
thi ¥t
fria) L
EK
© —+
i iniae) ¢
o
) ae
; {nfa) HE
EDF-S-DGV

95.

96.

97.

a8.

(27 -A)

What is the area of one of the loops between

the curve v = ¢ sin x and x-axis ?

{a) ¢

i) Z2e
{ey 3¢
id) de

If sinB+cosl= \Ecusﬂ,
(cos ® — sin O) equal to ?

then what is

(a) = A2cosl

(b —/2sin0

(e) J2sin0

id) Z2sinb

In a crcle of diameter 44 ¢m, the length of a

chord 1s 22 cm. What is the length of minor arc
of the chord ?

(a) 57
(h) i cm
21
121
R
E 21
44
(d) — om
7
i 1 1 ; ?
Ifsin 8 =- = and tan ® = ——, then in which
2 3

quadrant does 6 lie ?

{a) First
(b}  Second
{c)  Third
{d) Fourth



99.

100.

3TF 1, 2, 8, 4 30 5 %1 TAMT wE HdF AHE A
foraft T g et = wehdt B, SEfe s

1 gragfe i aafa 7277 @ 2
ial 36
(h 30
(c) 24
(dy 12

h 39 &1 v WA F Uh o A 9, 9
i & g gfio 4 B, 3999 Fi0 « 2 @
forg B®, o fo5 A w0l @& 4 B, T w0y
2 | af2 AB = 2 2, 1 Frafetfiam 1 & w9 v
wE 7 ?

F

{a)  h®(cot? ¥ - cot’ x)=2z
(hy 2% (cot® V- cot? x) = h®
el h? f_i.:m2 y- tan? X} = 7
(d) 7 (tan” - tan® x) = hZ

101. 71 1 o T ¥ wfieya afgs ™ e

102,

EDF-8-DGV

W F | HTEEe U o Uk SeeRl B whi STfEeRdr
R 7

1
{mi
51
;|
e) —
T
1
d o
@ 5
gfe A o B oE wead s wwn 2 fE

P(A) = 05, P(B) = 0-6 HR P(A N B) = 04 B, &8

PiA LR ) Toroes amen 2 2

ta) 08
(b 07
e 05
id) 03

103. % 59 d9 faenfe=i A, B 2 o =i o s 2

104.

105.

(28-A)

faeht voa =1 2e & B wiiawand s %

E— aff i % | afz 3 ooft =oaa w9 A W H
7 &A B dt 59 " o e e 2 e oum
=1 B fuet s 2

249
( e
a} 39
g B
32
25
(L} E
23
d i
(d) 32

froges ot & uR g Wl SRt (FIEeEn) ST
2 | %k WM % A1 W A8 IEL | Al 79 91
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100.

How many threa;digit even numbers can be
formed using the digits 1, 2, 3, 4 and 5 when
repetition of digits is net allowed 7

a) 36
(by 30
(e) 24
dy 12
The angle of elevation of a tower of height h

from a point A due South of it is x and from a
point B due East of A is y. If AB = 2, then
which one of the following is correct ?

(a)  h*(cot” y - cot® x) = 22

(b  2* (cot? y- cot” x) = h?
(¢) h* {tﬁnﬂy—tun?‘ x) = z°
(d)  7°(tan” V- tan® x) = %

101. From a deck of cards, cards are taken out with
replacement. What is the probability that the
fourteenth card taken out is an ace ?

1
{B:l E—l
4
(h ==
) 51

1
(o) E
1
d =5
) 18

102, If A and B are two events such that
PiA) =05, P(B) = 0-6 and P(A N B} = 04, then
whatis PCAUB ) equal to ?

(ay 09
(by 07
{e) 05
(dy 03
EDF-S-DGY

103. A problem is given to three students A, B and

104,

105.

(29~A)

C whose probabilities of solving the problem

are %, ii- and % respectively, What iz the
probability that the problem will be solved if
they all solve the problem independently ?

29
32

27
32

(a)

(b)
25
32

23
32

(e)

{d)

A pair of fair dice is rolled. What is the
probability that the second dice lands on a
higher value than does the first 7

(a) %
b 3
© %
@ =

A fair coin is tossed and an unbiased dice is
rolled together. What is the probability of
getting a 2 or 4 or 6 along with head ?

(a) %
(b) %
(0)° i
@



106. 3% A, B, ¢ #17 =ert §, & 70 § Fu-GFm 9

107.

108.

HeATSA % U H1Y ged ) mifEesan o1 8 7

(a) PANB)+PEMNCH+PICMNA)

iby PAMN B + PB N C) + FC N A -

PAnB N

PANB + BB N C + PICN A -
ZRAN BN O

el

(d) PAN B +PFBNC+ MNCN A -

ARANBNAO

afz 2t =1 X 37 Y @d B, O 39k s gggey
TUTT TR Y

{a) 1

by -1

w0

(@ I T Y

4 A TeAd A 3R B T wen 8

P{&UB}zgaﬂTP{ﬂﬂB}=%%l

gfe P(B) < P(A) B, At P(B) fepmeh st 8 7

() %
(b %
o) % .
(d) :;
EDF-3-DGY

109. T T (100} J=0i # W 50 B AT I

110.

{30-A)

o forme 10 2 | Al v Yaw § ® 5 e
o s & o fw 9@ 4 @ fwrfsm == e
AT B, A T HIeg AT T 9 fase e

T B 7

{al 45,5

th)  11-325, 1-25
(e} 11-25,2:5
(d) 12:5,2'5

afz 21 froger et = e W 2, 99 39 9
$1 wuftmy wlepar @ 2 fF uzd TE W o6
i, wafs 77 far gen 2 fF ari 9 e i
%1 TTEA 8 T ¢

(a)

| b=

1
i ke
(b} i

()

P A

(d)

0| =



106. If A, B, C arc three events, then what is the

107,

108. Two independent events A and B are such
that P(A U B) = % and P(A N B) = é If
P(B) < P(A}, then what is P(B) equal to ?
1
[ =]
&) 1
1
by =
4
fe) :
2
1
di =
( 6
EDF-5-DGY

fa) 1

by -1

(e} O

(d)  None of the above

probability that at least twe of these cvents
oceur together 7

(a) PAANBI+PBNCH+PICNA)

() PANB +PBNC + PICN A -

PANBN O

PANB +PBNC +PCNA -
ZPANBNC)

(o)

d PANB +PBNC 4+ PCN A -

SPANBNC)

If two variables X and Y are independent, then
what is the correlation coefficient between
them 7

109. The mean of 100 observations iz 50 and the

110.

(31-A)

standard deviation is 10. If 5 is subtracted
from each observation and then it is divided
by 4, then what will be the new mean and the
new standard deviation respectively 7

lal 45,5

(b)  11:25, 1-25

{e) . 11-25, 25

(dy 125, 25

If two fair dice are rolled then what is the

conditional probability that the first dice lands
on 6 given that the sum of numbers on the
dice is 87

(a) -;-
) %
(e} %
(d) ;
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1
{a) ﬁ )
3
i oy
(a = 3
b —
(b} T
2
(h} ry E
] T‘?‘
5
{r,,:l E ?
(d) 17
1
(d =~
} 3
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ia} 3 8 4
{b) 5953
{b) 4 s
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e) 33
el 8

(d) %.%
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111,

112,

EDF-5-DGEV

Two symmetric dice flipped with each dice
having two sides painted red, two painted
black, one painted yellow the other
painted white. What iz the probability that
hoth land on the same colour ?

and

3
2
b i
(b 5
(e 2
13
1
{d} 3

There are n socks in a drawer, of which
3 socks are red. If 2 of the socks are choszen

randomly and the probability that both

zelected socks are red is ; ., then what is the

value ofn ?
{a) 3
thy 4
(¢l 5

dy 6

113. Two cards are chosen at random from a deck

114,

{33—9.}'

of 52 playing cards. What is the probability
that both of them have the same value ?

{a)

(b}

(e}

{d)

In eight throws of a die, 5 or 6 iz considered a
success. The mean and standard deviation of
total number of successes is respectively given
by

5 186
al =, —
@ -2, %
gy 2t

3 3
(el i. &

a
i

4 5



115. 2 Bt A 3R B sg ywK 3 6 A 3 B
AT a2 | A PA) = 05 3T P(B) = 06
2, a1 P(A|B) ST AH #4182
(a) %
1
® <
ic) 3
]
1
{d) 5
116. Prferfas wwAt w T $ifau
1. HHE % UF T=T H 6 GAL AT |
frgerdl =1 oisf TTEw wed T B
B
2, _%Hﬂﬁﬁafﬁ%%ﬁ
AR AT > WEH > Fge (WiE) |
I FeAl H @ BV e AR 2
(a) A 1
(b) A 2
(¢} 13 2 gE
() A1, TE2
117. 7F <fifm X it v % o= gggay o 06
2 | aefess W Z ot W 39 W 9fiia @
féﬁz:xwaﬂthgﬁtzaﬂ:w%ﬁﬁa
TEGEY TN FT R 7
fal 01
by 02
(c) 036
(d) 06
EDF-S-DGV ( 34

118. I 1 3fft 20 % o= F @uft u= QU] w1 3 W
o =t e S 2, < afwrdt oefi s owE
T8 7

{a) 9975
(b) 19975
(c) 29925

(d) 889-25

119, 39 =1d = wid=a 7= & 7 et 99 %1 0%
wrafts frg 3ot ofify & omen 395 5 &

siferer @Him 8 2
(a) %

(b} % |

(el %

) == Fuife w8 fe = wa

120. 3z A 3 B2 WeAW &, 79 A A T A A
U B gfed B & wlREma s g 2

(a) PA)+PB)
(b)  P(AUB)

icd) PANMNB)

(d) P(A) P(B)
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115. A and B are two events such that A and B
are mutually exclusive, If P(A) = 0:5F and
P(B) = 06, then what is the value of P(A|B) ?
ta) =
5
1
(h) &
2
{c) ""_;'
: 1
idy =
3
116. Consider the following statements
1.  The algebraic sum of deviations of a set
of values from their arithmetic mean is
always zero,
2, Arithmetic mean > Median > Mode for a
symmetric distribution,
Which of the above statements is/are correct ?
{a) 1only
(h} 2 only
(e} Bothland?2
(d} Neither 1 nor 2
117. Let the correlation coefficient between X and
Y be 06, Random wariables Z and W are
defined as Z =X + 5 and W = %r—.W'hat is the
correlation coefficient between 7 and W ?
(a) 01
by 02
(el 036
id)y 086
EDF-5-DGY

118. If all the natural numbers between 1 and 20

119.

120,

(35-A)

are multiplied by 3, then what is the variance
of the resulting series 7

{a} 8875

(b} 19975
(e} 29925
(dy  399-25

What is the prebability that an interior point
in a circle is closer to the centre than to the
cireumference ?

1

{ =
a) T
1

by =
( 2
3

{ ol
¢l 1

id) It cannot be determined

If A and B are two events, then what is the
probability of occurrence of either event A or

event B ?

(a) P(A) + P(B)
(b) PAUB)
(e} PANB)
idy  PlA)PB)
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